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I. Objective Tlpe Questions. Answer all twehe questions:

Choose the correct answer :

l. The common difference of the A.P. 1, - 1, - B, - E ..... is:

Ma''rimum Weightage : 30

(d 1, (b) -r. (c) -2. (d) z.

2. The quadratic equation ax, + bx + c = Q has equal rooLs if
(a) b2 -4ac<0. G) b2 *4ac>A.(c) bz -4ac=0. (d) b, -4ac=1.3. Which of the following statement istrue ?

(a) o. { } . G) o.{ }. (c) o e {o} . (d) oc{o} .

4. which of the fotlowing is true for unimodal as5rmmetrical sets ofdata?
(a) Mean-Mode = 3 (Mean-Median). (b) Mean-Median = B (Mean- Mode).(c) Mean - Median = 2 (Mean - Mode). (d) None of these.

Fill inthe blanks:
5' IfAis amatrixof order4 x 3 andB isamatrixof orderS x 5,thentheorderof the productAB;- _

- _: '":r 
: ' '"

6. ThecommonratiooftheG.p. 1, +,1 
I

t i'n""
7 . If a set A contains n elements, then power set of A contains.------:--: elernents.
8. In a Symmetric distribution, the relation between the Mean, Median and Mode is given by

Answer the following:

9. Define zero (Null) matrix.

10. Write down any two measures of central tendency.

11. What is the simple interest for Rs. 10,000 at the rate of lSVo per annumfor 2 years ?

(tzx 1=3weightage)

II. Short Answer Questions. Answer oll questions :

fo-rsl
tz. d,=12 8 9lfind-bA.

Ir o 8l

H
13. Cornpute the product AB where A = anda=[2 3 4 51.
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